180

55 a=127%,, a=11844rad’s’,
V, =0,1257 (4T +66, -3¢, ),
a, =—0,1257° (256, +188, ),

Vi =3067 m/s, a, = 38 m/s

3,606 m/s,
108,2 m/s’

5.6 w=30rad/s,vp=
R=0,1202 m, ap =

57 a=-142,5T+136] +78,55k ,
=212,06 m/s*

2
58 27| R;
t )T

6 Kinematika slozenog gibanja

s =19,627 —13,027 , v, mJs,

6.1 V
d,, =1,57 +2,598] , a, m/s’

6.2 wap= 1,333 radss,
aag =—6,735 rad/s?,
=12,76 m/s, ag =

27,1 m/s
6.3 vp=0,5m/s,ap=—1,12 m/s’
6.4 vg=10,9 m/s, ag = 246 m/s’
6.5 Vo=5,8m/s,a, =86 m/s>

6.6 Vvp=7m/s,ap= 120 m/s*,

wap = 12,83 rad/s, a g = —377 rad/s’

6.7 VA=0,595m/s, a, =3 m/s’,
aop = —12,33 rad/s>

6.8 wac=9,2 rad/s, axc = —405 rad/s>

6.9 vg=3,15cm/s,ag= 6750m/s

ag = 0,391 rad/s

6.10 v

6.11

6.12

6.13

6.14

6.15

6.16

6.17

6.18 woc

6.19

6.20

6.21

6.22 wap

6.23

6.24

6.25 vp

6.26

Vil = 3,575 m/s, wag = 17,86 rad/s,
axg=-—1518 rad/s?

ag = 0,6012 m/s%, vz = 0,479 m/s
Ve = 2,65 m/s, ac = 20,7 m/s?

Va = 2504m/S aa =
Vp = 1,12 m/s, ap =

3,92 m/s%,
2,45 m/s’

wop = 10 rad/s, a, = 141 m/s’
Vp = 8,2 m/s, ap = 42 m/s’
w = 5,87 rad/s, « = 15,3 rad/s’

w = 4,6 rad/s, a = 29,2 rad/s*
=175 rad/s, aoc = —110 rad/s*
9,83 m/s’

Ve = 2 053 m/S ac =

=20 = 8,87 rad/s,
a (=200 = 204 rad/s’,
o -0 = 12,57 rad/s,
a p=00=0

Va =2,31 m/s, a, = 24,63 m/s’

= 0,097 rad/s (sup. smj. k. s.),
wz = 1,452 rad/s (u smj. k. s.)

Vu = 3,644 m/s, a, = 9,021 m/s’

Vp = 6,025 m/s, ap, = 12,379 m/s>

=1,916 m/s,

translatorno gibanje ruc¢ice AD

Vg = 2,35 m/s, ag = 2,02 m/s’

Kinematika sa zbirkom zadataka



